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-- 10-bit Priority encoder

- by Zhang Ke, 2021/10/30 9:26PM

library ieee;

use ieee.std_logic 1164.all;

entity BCD _Encoderl0 is

port (

Input : in std_logic_vector(9 downto 0);
Output : out std_logic_vector(3 downto 0);

E - out std_ logic

)i
end BCD Encoder10;

architecture rtl of BCD Encoderl0 is

begin
process (Input)
begin
if (Input(9) = '0") then
Output <= 710017
E <="0"%
elsif (Input(8) = '0") then
Output <= 71000";
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E <="0%

elsif (Input(7) = '0") then
Output <= "01117;
E <="0"

elsif (Input(6) = '0") then
Output <= 701107
E <=0,

elsif (Input(5) = '0'") then
Output <= 701017
E <="0"%

elsif (Input(4) = '0") then
Output <= 701007;
E <=0

elsif (Input(3) = '0'") then
Output <= 700117
E <="0"

elsif (Input(2) = '0'") then
Output <= 700107;
E <="0"

elsif (Input(1) = '0") then
Output <= 700017
E <="0"

elsif (Input(0) = '0") then
Output <= "00007;

E <="0%

else
Output <= "XXXX7;
E <="1%

end if;

end process;




62 | end rtl;
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2| -- Test Bench for 10-bit Priority encoder

a| -- by Zhang Ke, 2021/10/30 9:57PM

¢ | library ieee;

7| use ieee.std logic 1164.all;

10
u | entity Q1__BCD_ Encoder_tb is
12| end Q1_BCD_ Encoder_tb;

13

14
15
16 | architecture tbbehv of Q1 _BCD Encoder tb is
17

18 component BCD_ Encoder10

19 port (
20 Input : in std_logic_ vector(9 downto 0);
21 Output : out std_logic_vector(3 downto 0);
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E :out std_logic

)i

end component;

signal Input : std_logic_vector(9 downto 0) := ”0000000000";

signal Output : std_logic_ vector(3 downto 0);
signal E . std__logic;
begin

U_BCD : BCD_ Encoderl0 port map(Input, Output, E);

inputpc : process

begin
Input <= "0000000000”; wait for 20 ns; Input <=
Input <= "11000000007; wait for 20 ns; Input <=
Input <= "11110000007; wait for 20 ns; Input <=
Input <= "11111100007; wait for 20 ns; Input <=
Input <= "11111111007; wait for 20 ns; Input <=
Input <= "11111111117; wait for 20 ns; Input <=
Input <= 711101000007; wait for 20 ns; Input <=
Input <= "11110111007;
wait;

end process;

end architecture;

”10000000007;
”11100000007;
”11111000007;
”11111110007;
"11111111107;
”10011000007;
711111001007

wait for 20 ns;
wait for 20 ns;
wait for 20 ns;
wait for 20 ns;
wait for 20 ns;
wait for 20 ns;

wait for 20 ns;
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